MOTION & CONTROL

NSK

oo oodd




ooobddd ooooooooaa

JogodgodddrucPM2U 0

000000000000000®moO000o0

N

1

0

0 oooooo SIBHRRRARI i ngg oooo DDDD[EEE

0o 00000 Qooo 0ooon 00000 |

mm H|{L|J|A|N|N|H |[H | L | B/ S nooop

20 | F-UCPM204/LP99 |33.3|120| 95 11 | 64 31 [127 F-UC204D1/LP99 | PM204 | 0.6
30 | 12 | 14 42 M10

25 | F-UCPM205/LP99 |36.5| 130 | 105 12| 70 34.1(143 F-UC205D1/LP99 | PM205 | 0.7

30 | F-UCPM206/LP99 |42.9| 155 | 121 | 36 13| 82 38.1]15.9 F-UC206D1/LP99 | PM206 | 1.0

54
35 | F-UCPM207/LP99 |47.6| 161 | 127 | 38 92 429|175 F-UC207D1/LP99 | PM207 | 1.3
17 | 20 M14

40 | F-UCPM208/LP99 |49.2| 171 | 137 14 | 98| 52 F-UC208D1/LP99 | PM208 | 1.8
40 49.2

45 | F-UCPM209/LP99 |54 | 180 | 146 105 | 60 19 F-UC209D1/LP99 | PM209 | 2.1

50 | F-UCPM210/LP99 |57.2| 195 | 159 | 45 | 19 | 22 | 16 | 114 | 65 |51.6 M16 | F-UC210DLLP99 | PM210 | 25

IDDDDDDDDDDDDJISBl559DD

1000000000000 000000b00000

OO0Oum

oooooogz

oooooooooo

ooooooooo Oooooooon
OPM, FMO O ADam
oo o0
204 014 011
2050 208 018 012
209 0210 022 013

2000000000D00D00O

O0d0dmm
pgoooooooooooon
gooooooog goopooooooo
AHs
PM2040 PM210 + 0.15




JobooobooobodooilrRUCHFM20 0

000000000000000®00000

Q/\

L
A
. H R Ao
A
Ao

0

0 oooooo SIBISRRAR gggg oooo IZIDEIEI[DDDDDD[
0o 00000 Sooo ooooo 00000 o
mm H J A | A| A N L Ao B S noeo
20 | F-UCFM204/LP99 | 112 | 90 | 15 255| 12 | 60 |33.3|31 |127 F-UC204D1/LP99 | FM204 | 0.5

M10
25 | F-UCFM205/LP99 | 127 | 99 | 16 | 10 |26.5 68 |35.8|34.1|14.3 F-UC205D1/LP99 | FM205 | 0.6
30 | F-UCFM206/LP99 | 145 | 117 | 18 30 80 | 402|381/ 15.9 F-UC206D1/LP99 | FM206 | 0.9
16
35 | F-UCFM207/LP99 | 158 | 130 | 19 32 90 |44.4|429|175| M14 | F-UC207DLLP99 | FM207 | 1.2
12
40 | F-UCFM208/LP99 | 172 | 144 | 21 35 100 | 51.2 F-UC208D1/LP99 | FM208 | 1.6
49.2
45 | F-UCFM209/LP99 | 180 | 148 36 108 | 52.2 19 F-UC209D1/LP99 | FM209 | 1.9
22 | 13 19 M16
50 | F-UCFM210/LP99 | 189 | 157 37 115 | 54.6 | 51.6 F-UC210D1/LP99 | FM210 | 2.2

IDDDDDDDDDDDDJI881559DD

fooooooooooooon

O00mm
0000000000000l 0000000
SBEoE 0000000000 oooooo
Ahos X
FM2040 FM210 + 05 07

00000000000

oobooooboooobooooobooOoobooOooboOoomo
ooboooooooooob2znooooOoOOOOOOOOO

0oooo
00000000 | 000000O0| 000000000
OF-ucO O OWDO 000000000 NImD kgflemO
204, 205 M5x 0.8 3.9{40}
206 M6 0.75 4.9{50}
207 5.8{60}
2080 210 M8x 1 7.8{80}




ooooodd ooooooooaa

oot ruc20U

000000000000000®m0O0000

@D*f*ii**** d da
s s
B
NO0001000000
O SOEE 00000mm ooooooooogod
o KNG oo
% ooooo {kaf} kgD
mm d D B C I'Smin S| s |G ds ds Cr Cor nooog
9.9 6.65
20 | F-UC204D1/LP99 | 20 | 47 |31 12.7 |18.3 | 45 296 | (1010} | {680} |O0-17
1 M5x 0.8 10.8 7.85
25 | F-UC205D1/LP99 | 25 | 52 |34.1 1 |143|198 339 | (100p | {800} | 020
5 15.0 113
30 | F-UC206D1/LP99 | 30 | 62 |38.1| 19 15.9 [22.2 408 | (is30} | {1150} | 033
M6x 0.75 19.7 15.3
35 | F-UC207D1/LP99 35 | 72 429 20 175|254 | & 468 | (2010} | {1560} | 049
40 | F-UC208D1/LP99 | 40 | 80 21 53 {éﬁgé} {fggg} 0.65
49.2 15 302 8 52 0.4
45 | F-UC209D1/LP99 | 45 | 85 22 19 M8x 1 | 575 | ey | (2080} | 070
27.0 232
50 | F-UC210D1/LP99 50 | 90 |51.6| 24 326| 9 624 | 12750 | (2370 | 080

Di0oooooooooocoooboooooooooooooooooononooon

goooooooooOoOo0oO0oO0ooOobOOoOO0OOOOOO0OOO0OO0OOOOOOOOOOOO" L4ss”

00000 F-UC204D1/L458

ooooooooo

ooooooo

ooooo

ooooo

000o0000000000000000

0200 0 110°C 7P

gooooooo

00000000USDADOH-1000000000

oo0oooOo0oooooz2e000000000000

IDDDDDDDDDDDDJI881558DD

1000000
O00pm
oooo 0000000 DoOoODo00oDO0000000ODoooooOm
ooooo a ] ABs 0 KiaO
Admp Vdp ooooo goooo
OF-uUCcOO
oagd oagd ooo oag oagd ooo
20400206 | 018 0 12 0 0120 18
2070210 | O21 14 20

2.000000
OO0OOum
0ooo DDDD%DDDDDDDEDDD
[ Keall
ooooo ADmp oooooo
OF-ucOO
oo oo ooo
204 011 20
2050 208 0 013 25
2090 210 015 35




oobbdddd ododooooooa

Jogboobobouboubtibuboboboubotubotubon

1.000

NSKOODOOOOOOOOOO0000000000000000000000000

[ [J [0 0 0 L] npooooooooooonoooono000o0O0000O000O00oonn

0

00000°N000000000000000000000000000000000
000000 [[ teooooooooooooo0oo000000000000000000000

00000000000000000000000000000000000000

ooooooooo

0

oooooooooboboooo
D D D D D D D D D D ooooooOoobooboOoOoooOoOoooOo0ooOoO0o0OoOO000b000n

O
gobooooooo
pooooooooooobooobobobOoobOobbOobbOoboobobobbo
D D D D D D D D D goboboooboooooooooooboon
gooooooo
O
D D D D D D D D goboooONsKOOOooOooooOooooooobooooooooboooooDo

oooooo
2.000
Doooo 0oooo
oooooo 00000000000000O0SUS440Cc00000
oooooo 000000000000000SUS440CO0
oooo Oooooooon 000000000000000SUS30400
oooooo DO0O0O0OooO
woooooooo 000000000000000SUS41000
0ooooo 000000000000000000SCS1300

.uugoougoogoon

ooooobUooooooooooOOoOo1s0800000000000000D0000D0000D00DeOONDOOONDDOODO
Odn0012x 10°0000dn0000000dOmmOx 00000 nOmin'000
00)0O0000000000dn00000oooooooboooooooooooon

00 0000000000 0000000ONSKOOODDODOO0O0O0OoO

4.0000

00000000 O000 00000 AO000x OO00O0000

goooo pooooo pooooo oo
goooo o000l DooO| ooobO| 0O0ObOO| OOoOO| booo| oooo
0000000000000 0O suUs440C, sus41o O o0 oo oo AQ A x [0 x [0
0000000000000 O0 SUs304, sCsi3d oo oo od o0 oo o0 oo
goooooooo suJ2 0 ood Al Al x [J x [J x [J x [J
goooooo Al x [0 x [0 x [0 x [0 x [0 x 0

0000o0o0oooooooooooooooooooooooooooooooooooooooooooooo0o0n
00000000000000000000000

5000

ooboooobooooboooooobooooboooboboooooOoooooOobOOooooOoOooooo

ec.0uuun

0000000000000 0YU00000000000000000000000000000000000000
goboooOooOoooOoobOOoooONskKODOOOOOOOOOOOOOOOOOOO



